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Please correctly fill your Rolt Mumber in O.M.E., Sheet. Candidate will

themself be responsible for filling wrong Roll Na,

2. At the start of the sxamingtion before sftempting the cuestion paper kKindiy

check your test bookiet and OMR Answer Sheel and ensure that :

The serial numbers of test bookist and OMR answer shest are same.

Al pages of test booklet and OMR answer sheetl are properly pr;n‘t@d Al

guestions from S.Mo. 1 to last S.No. 280 are printed and pages from 5.No,

1 1o tast 8. No. 32 are thers in the guestion booklet.

in case of any discrepancy / defect the candidate should Immediaisly report

the matter 1o the invigilator for replacernent of test bookiet and OMR answer

sheal. Mo claim / objection in this regard will be entertained after five minutes
of start of examination. Candidate will be liable for it

Anzwer gli questions.

All guestions carry equal marks.

Qnly one answer is o be given for each gueston,

If more than one answers are matked, it would be tregied as wrong answer.

Each guestion has four aiternative responses marked serially as {A), {8,

{C), (D). You have to darken only one circle or bubble indicating the correct

answer on the Answer Shest using BLUE BALL POINT PEN.

8. Use of Mobile Phone/Biuetooth Devices or any other electronic gadget in
the examination hall is strictly prohibited. If any such prohibited material
fo;md with any candidate, strict action will be taken against him/her as per
rule.

8. ¥ there iz any sort of ambiguity/mistake sither of printing or factual nature
in Hindi and English Version of the guestion, the English Version will be
treated as standard.

Warning : If a candidate is found copying or if any unauthorized material is

fourd in hisfher possession, F.LR. would be lodged against him/her in the

Police Station and he/she wouid liabls to be prosecuted under Section 3 of the

State Prevention of Unfair means Act, 1982 and Board Regulations. Board

ray also debar him/her permanently from all future examination of the Board.
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PART-A / Wi-A )

In which of the following district of

Rajasthan, 'Dravyawati River' is facing the |

problems of water pollution ?

(A) Karauli (B) Alwar

(C) Bharaipur (D) Jaipur

TR & Pl (¥ @ Reed, aead)
T W YR Y TR e w e g
WE?
{(A) ®a
(©) wtay
In which region of Rajasthan ravines are

found ?
(A} Chambal Basin

(B) swart
(D) srge

~ (B) Mahi Basin

{C) Chhapan Basin

(D) Sambhar Basin

M % 5 Wy des Rl £ 2
(A) T=w R

(B) = aftmr

(C) o Sy

(D) aive dfm

Which of the following city is situated on
the bank of river Jawai ?

{A) Pali (B) Jalore

(C) Jhalawar (D) Chittorgarh
Freferled st & & &9 @ o ) » Ty
Rag ¥ ?

{A) ure (B) Wit

(C) wemeTe (D) e

Which of the following Chambal Project
produces the highest hydroelectricity ?
(A) Rana Pratap Sagar

(B} Jawabar Sagar

(C) Gandhi Sagar

(D) Kota Barrage

st & & ww U % feed gad s
ST 7 SwweA far s 7

(A) T 9T AT

(B) smmey ammr

{(C) =dy |rme

(D) @iz &

83P4 } E{}.
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[COMMON FOR ALL]

Which of the following forest produet is
used for making wine in rural areas of
Raiasthan 7

(A) Bamboo (B} Mahua

(C) Apple () Mango
Rl % & @ v sk e ¥ vl
w5 F v g N me oy s ¥ 7

(A) 9ig (B) wgar

{C) &= (D) am

Which one of the following river does not
fiow in the Eastern Plain of Rajasthan ?

(A) Morel (B) Banganga

(C) Kakni (D) Dhund

Pttt % & B @ T <o % LG EE]
A yefed AR Y 2

(A) R (B) =R

(C) wweit O =

In Rajasthan, which of the following is
considered as a most fertile type of soil ?
{A) Sandy Soil

(B) Yeilow Soil

(C) Red and Yellow Mixed Soil

(D) Alluvial Soil _
R A, A & oW ger e wais
ERRISTCAT i

(A) w1 T

(B) tielt a1

() v v S el

(D) it yar ‘=

Which of the folowing district is not 2 main
producer of Catechu ?
(A) Bikaner (B) Bharatpur

(C) Bundi (D) Jhalawar
Frefafae faelt & 9§ B o @ w7 &7 S
wE 7

(A) T (B) wwg

(C) & (D) e

|[COMMON FOR ALL] [ P.T.O.
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_{D) Bishnot and J

| PART-A

/ A

Which sect preaches in Simbhudara and
Konda texts 7

(A} Bishnoi beot

(B Harbhuii

(Cy Jasnathi Se“"

asnathi Seot
fevmg g wier dul ¥ Y duan &
(4 Tyey g

(8) ToEh

YR E Y

(0 wree dwey
(D) Ry ol sremly duEr

. Who built the Mehrangarh fort 7
{A) Rao Maldev

i {B) Rao Raisingh
(C) Rao Jodha {I) Rao Kalyanmal
B g @ T R w7

(A) 19 aFRd (B T9 THRE
(C) g s (D) T8 ST

Which ruler of Jedhpur was conferred the
title of 'Sawai Raja' by Akbar 7

(A) Mota Raja Udaisingh

(B) Maharaja Gajsingh

(C) Rao Soorsingh

(D) Jaswantsingh - 1

S % fRY e B I AR R #
Fuify wers @ @ 7

(A) HreT TS SEarE

\u) B W

(C) T gude

{in ﬁ”ﬁ?ﬁi’g—l

if a tourist wants to visit the big water tank
(Tanka), cannon structuring place and the
secret tunnels, which fort should he go 10 ?
(A) Jaigarh fort

{B} Nahargarh fort

(C) Kumbhalgarh fort

{Lv} Amber fort

oy wig Tiem faymw o % s, O e W
HTCG T i dEw wwE O oue
feg few & wen e 7

(A) swre g

(B) wrETTs o

(C) gwemz T

(D) T gt

83P4 ] m=

i3

i&

i6

Who iz the
Raiasthan
Ministers in Ra
{A)Y Girijn 'ij,-' s
(Cy Vidhya :
TRFER By e wiwen
ahresm B oWy e
Ay BT S

{
e S
(C) Ry wow

thalra Patan
Sirchi
TN B WS U &8 ol b7

&)

B

WL e
T

AT T
o

According to Dr. Tessitori,
ianguape had come into exisionos
which century 7

(&), 12 (B)
(C)y 13 (D) 1ot

a7, 28E & arper sy v fEg wd Y
W SRR W oo gel &) 7

(A 1297 w& (B)

(Cy 138 = (M

Which of the following not
context of painting 7

£ AN
{A}
g a it
(\E;
e
1 L

i N
{1

;i:.x asi ﬁ.hiL“
HTC

ﬂa i

jith

-

fa}
_ﬁj ﬂ;
Pl

11
1

COITEct in the

_{A) Saligram, Baksaram, Nandram belong

1o the Alwar style.

Alageels svatem first started wn Amber
£ ¥ BLane

Raghunath, Dalu, Govindram belo

to the Kota style of painting.

Chokhelav Mahal is relaied 1o Bikaner

givie,

Foseen & e § P § € 3

G Ty

AY aifrmas, SwEe,
HETEHT T

ST T8ty

BT 1

e, wi, e el 9 % e

¥

(B
(©)

(D
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HE
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(D) Hrawg Hee @ ey $we Sid @ R
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| PART-A / wri-A |

|COMMON FOR ALL

Which of the following region of Rajasthan
was named as "Yodhey Pradesh’ in apcien
iime 7

{A) Jalore (B} Ganganagar
(C) Jodhpur {133 Sikar

+ AR wRy @ s e 7

{A) W@ (8 e
(C) =irggy (D) e

Which of the following herb is used to
ncrease lmmunity 7

(A} Brahmi (B} Arjuna

{Cy Alcevera (I2) Ashwagandhsa
Fretefles & € o & ol htus s
B H sl ¥ o7

(A) =t (B) e

{C) wararsT (D} argerigy

Which one of the following grasses is not
grown on western districts of Rajasthan 7

{A} Lana (B) Sevan

(C) Dhaman (D} Karad
Pl & & @@ @ g e & ol
forelt o 78 o ey & 7

{A) ®wE (B) Ty

(C) sraw (D) =F

How much change has heen reported in
recent {wo years in the forest area of
Rajasthan according to Forest Report-
20199 :

{A) -57.51 Sq. km.

(B) +57.51 8g. km.

(C) =16.79 3q. km.

(3} +16.79 Sq. km.

T 2019 @l wridim 7w R & s fese
& o A e § o a3 R aftads
EE 7

{A) -57.51 o Reen

(B) +57.51 =} figely.

(C) —16.79 o7t Ty,

(D) +16.76 =nt fimh,

83P4 1 c{}a
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22

23

24

Gut of the following pairs, which pair of -
district having red and yeliow soil

{A) Alwar-Bharatpur

() Almer-Bhilwara

{C) Baran-Tonk

(D) fodhpur-Pali _
ﬁfﬁ%«'{ﬁ@a‘w&%a@aﬁww%ﬁww%@?
@ ud dier gar o Wl b9

(A) SFET-STEIT

(B) smaT-daam

(C) wri-2fm

(D) wege-reh

Siddhmukh-Nohar Irrigation Projects geis
surpius water from the _ - rivers.
(A) Ravi - Beas |

{B) Ravi.- Satluj

(C) Satlyj - Beas

(D) Ravi - Ghagghar

freme et Rivrd wRaemm sy whedt
BT AT T o g b

(A) T — =g

(B} Wl ~ ygew

(C) wams - =g

(D) ol ~ Ty

Which of the following dam is not
producing hydel power 7

(A) Gandhi Sagar Dam

{B) Mahi Bsjaj Sagar Dam

(C) Kota Barrage

(D) Jawahar Sagar Dam
ﬁwﬁ@fﬂ%ﬁ'waﬁaaﬁﬁz@mﬁww
T 7

(A) ey = sfer

(B) @€ — I9% 9 @iy

(C) @

(D) wEmET wmy iy

In which of the year, Desert Development
Programme was started ?

Wﬁ@mﬂ,%mmw
f&ar T 7
(A) 1982-83 (B) 1671.72

(Cy 1977-78 (D) 1981-32

|COMMON FOR ALL] [ P.T.O.
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PART-A / WA [COMMON FOR ALL

k.

in which region of Rajasthan 'Entisols’
group of soils are founds 7

(A} Eastern (B) Westem

(C) Southern (D) South-Eastern
EeEr ¥ e wy ¥ oedw wE W g
el & 7
(A) o
(C) =iy

By ufyerdr
(D) wlor-gE

Which of the following river does not {low
in Ajmer district ?

(A) Khari (B} Dai

(C) Mansi (D} Banas

fror & & w9 B WD ot foe § enfia S8
g E Y
(A) wrl
(C) =y

(B) =

(D) w91

In which of the following district of

Rajasthan, Jindoli Tunnel' is situated ?
(A) Jaipur (B) Alwar

(C) Udaipur (I} Rajsamand
R T TroaT % PR fael ¥ §
fopod R & 7
(A) YT

(C) wEage

(B) swet
(D) TsEm=

Which one of the following pair is not 2
correct match 7

Clmate Region Dhstrict
According to Koppen

{A) Aw - Banswara
(B} BWhw - DBarmer
{C) BShw - Pali

(3) Cwg Tonk
frrfefas gl % @ zsﬁ YT ghE ARl e 7
BT H I e
T FaYT

(A) Aw - Fgarst
(B) BWhw - FEET

{C) BShw - Tl

(D) Cwg - s

83P4 ] r-.{?rﬂ

g

3

31

32

33

Which state of Rajputana was jomed o the
M 1 N i e T ey N cxtane Flaeri x
third phase of lntegration of Rajasthan in
the United REajasthan

{A) Marwar
{0 Mewar

I _ S
RO W WEn T W il =¥ W giHa

TR o Wy Ree T e wer T 7

W5
—, \
{A) wEw (B) SrRTEET
o o .
(Cy & (D S

Where is the fair of Kalvan)i orgenised ?
(&) Javur \3} Amber

() Phalna (I Diggl
el Gwn wwl eifen SE v 7

{A) vyl (B) o™t
(Cy e (T3 &

In the Battle of 1857, only ruler who led
the Army himseif ?

{A) Kushal Singh - Aauwa

(B} Sardar Singh - Bikaner

(Cy Dalpat Singh - Pretapgaﬁn

(D) Ranjeet Singh Bhati - Jaisalmer

femer omeres % 1857 % g o T @ g @l
fopem 7

(A} 3‘55?”(*35%‘% e ED

(B werfs - dme
(C) TwUaRizs — TEOE
(D) e wE - TEEHT

Who was the writer of ‘Rao Jaitst ro
Chhand' 7

(A) G H. Giha {B) Bithu Suja

{C) Bankidas (I») Narpati Nalha
T v T s ¥ wEm awm g 7

(A) o wa elwn (B) dg g

(C) giomEE () wrafa 9w

Where was the capital of Paramara Dynasty
of Vagad 7

(AY Malva (B) Jalore

{C) Abu (D Utthoonak
SIS I VAT URTEST @ Ty @el 47 P
(A) TTE (B) R

(C) g () Sg9w

[coMmoN FoR aLL] [ P.T.O.
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| PART-A / WA |

d

34 What are the areas where Arjunayan Tribe | 37 Which of the following was not included

in the Panchpane' of Shekhawari 7

(AY Bisau (B} Malsisar

‘ (I Mand
s wnow e ¥ o

has overall influence ?

A} BikanerJaisalmer arves
B} Hadoti avea

(C) Udaipur-Pratapgarh ares

N

(I2) Alwar-Bharatpur area

- JRUS W. YI Bmse gty -
s Wil & v ds ¥ whng o e
e e

R RS o 38 When was the "Paropkarini Sabha' registered

(I wadRy
(I3 =vgrar

(B) =l o in Udaipur ?
(C) SRUGR-TETE giE (A) February, 1883
(D) S-S we {B) February, 1§81

{C) 10 April, 1875 ;
{22} October, 1883 C
SeaqR ¥ qimaneh wnwr ww dfmw w0
{A) wTgll, 1883

{B) wwa{y, 1881

(C) 10wy, 1875

(D) siegaT, 1883

35 'Who was the ploneer of the Child Marriage
Resiraint Act, April 193G 7
(A} Arjunial Sethi
(B) Raibahadwr Harvilas
{C) Heeralal Shashiri
(D) Jamnalsl Baja}

ol, 1930 ¥ e Rrawe Priue aem % iy

N 3%  Which of the following styles of paintings

w aie also known for Panchatanira Paintings”

(A) erframer B8 {A} Bundi (B} Kota 4
(B) wowswy whe (C) Marwar (D) Dhundhar

(¢ Eromme simed e ¥ @ B @ Redd daesr Refew

& ford o welt i &0

(1) a9 o _

: , . 1 0y WS D) e |
36 - Under whose Presidentship, the first annual (C) wieam (L) g=rs P4
session of Jaipur Rajya Prajemandal was ) . . ,
held in 1018 7 40 #Vhich record denotes Chavhans as ;
eld it 38 7 ST :
) . .- . "Vatsgotra Brahmin® ? ;
{A) Heeralal Shasin e Tt |
By K Chon {A) Bijolia Inscription 5 4
apoor Chand Patn - inti * ‘
\B) xapoor Chand Patni {B} Pratapgarh Inscription é
(€) Jamnalal Bajaj {C) Mandor Inscription
() Baba Harishchandra (1) Ghosundi Inscription |
1938 o SRyc U UEEEE W RaY aies e oty ¥ Qe o ewdy sRe w8 %
. 5 H
g e e ¥ onhfer gam 7 mrE ? g
(A) Fromme oredt (A) Taeirar arfrde
’ - - Vo L] 3 :ﬁ\
(B) =97 o wed {B) wrrr st

() He sidm

(C) Torens oo
(D) argedr afyde

(D) =y sfemw

83P4 ] r.:gﬁ“ 6 COMMON FOR ALL] [ P.T.O. : 8
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Eiectrical Engincering / fa sfraifaad

PART-B-1/W-B-1]  [OPTIONAL SUBJECT / bafiws frwa

41

42

43

44

What is the maximum load that can be
connected in a circuit connecting only
Hghting load as per IE Rules 7

{A) 500 Watt (B} 750 Watt
() 8BGO Wait (D3 1000 Wan

HEw TeFl W welw aiay ¥ JE PR
fesomr arfieew wiv Wiy wow €7

(A) 500 @= (B) 750 @e
(C) 800 T (D) 1600 &=

What is maximum allowable watiage ihat
can be connected to a 240V, 20 A, single
phase circuit feeding residential electric
heater 7

(A) 3840 Watis

{(B) 4320 Walts

(Cy 4000 Watts

(DY 1520 Waits

T 240 V. 20 A, U ow wiwy W fed
siftepaw =i sl =1 W= @ 8 7
(A) 3840 @1

(B) 4320 a1

(C) 4000 ==

() 1920 3

What should be the height of the roof poie?
(A) Less than 5 meters

(B) Less than 3 meters

{C) More than 3 meters

(D) More than 10 meters

B & WY B Tug o9 BA 9IRT 7

(A) 5 W=T 9 A

(B) 3T & ®9

(C) 3 WreT ¥ oibm

(D) 10 drx ¥ sfy®

Belt conveyors offer -

(A} Zero starting torque
(BY Low starting torgue
(C) Medium starting torque
() High starting torgue
7z HEUIT TET B T —
(A) g arifves sw el
{(B) =@ onifre s@ amge
(C) @ aithss o eyl
(D) T il w@ o

83P4 ] 4}:1

45

46

47

48

The direction of induced e, can be Tound
by

{A) Lenz's Law

(B Fieming's Right Hand Hule

(T} Fleming's Left Hand Rule

{0y Laplace's Rule

uhw fgan, @) e we @ wn ¥

(Ay o= @ Frog B

(B Wi ¥ e w1y W Maw m

(Cy v & & wvy @ Faw g

(D) wrere o P gra

Both the number of turns and the length of
the core of a selenocid are doubled, then its
inductance will be -

{A) Quadrupled (B} Doubled

(C) Halved (I Unaifected

wnd dreTie 5 BT e Wi @ T T e
R @ g Bl 9T THGT Ui B -

(A) S (B) Tp
(C) smem. (D) swperfas v

Soft magnetic materials have

{A) Low resistivity

(B} Low permeability and high coercive
force

(C) High permeability

{3} High residual magnetism

g g wEr @ 0§ -

(A) &9 wfeadgsar

(B) = grovern ofY OTE SETS W

(C) w= aroTRT

(D) IeT w1 g TEHE

if the voltage and current in an A.C. circuit
is 90° our of phase, then the power in the
cireuit will be -

{4 Minimum (B} Maximum

{C)y Zevo (I3} 90 Watt

T el Tt garedt afvay # fawe ww ww

W ner 90° w ey ¥, 6 ofww ¥ aig
Sefie

(A) =gFaw (B) artteras
(C) o= () 90 «fe

| Electrical Engineering / Raa Wﬁ?&’[@ﬁ’}
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49

50

51

52

During normal working of transistor as

amplifier, the emitter junction is

{A) Unbiaged

(B) Forward biased

{CYy Reverse biased

(D} Bhort circuited

Y U TR e T & o ¥ ard
BN 3 G SES wwwe 9y !

(A) sy ST ¥

(B) i wemm gy ¥

(C) =gwm qeraRl s ¥

(D) =g ufray g €

A JFET has high input impedance because-
(A} it is made of semiconductor material
(B) input in reverse biased

(C) of impurity atoms

(D2} none of these

TE IFET 7 o wirmar o=g g ¥ wife—-
(A) T8 T uSiY @ 9 ol

(B) & T UURT BT §

(C) 99 syw T B ¥

(D) 9 9 »ig 7

A JFET has three terminals namely
{A) Cathode, anode, grid

(B) Emitter, basze, collector

(C) Source, gate, drain

(D) Emitter, gate, collector

s JFET % am 2fifse o ¥, frger &

]
(A) Furs, s, U
(B) Swsis, onune, H@uTssH
(C) #m@, 1z, 37
(D) sww, e, SuEs

The leakage current of 2 PN junction is
caused by -

(A) Heat energy

(B) Chemical energy

{C} Barrier potential

() Majority carrier

T® PN &ty o Ram g s § -

{A) T s

(BY vwmafm e
{C) sergys Ry
(D) =590 urEe

83P4 ] a:{lr:a

8

53

54

35

56

Which of the following is unit of specific
resistance 7

(&) Chm (B} Ohm-meter
(Cy Chm/meter (D) Ohmv/meter?
7% ¥ Rlfre wirde o o @

i \..y \.r-

.fﬁé— e

(By ey
(D) a2

P§8£:>erty of magnetic maierial which
opposes 1o establish the flux in it is called-
{AF Magnetic flux

(B} Magnetomotive force

(C} Relyctance

(O3 Magnetic permeability

TP vard o 9% T S aed weee e
A} B Rty wo ¥, wEewT @

(A) greaiT Saeg

(B gaed s 5w

(@zuﬁfwm ,

{E}gﬁzwﬁu AT

Whgch of ihe foilowing is true for the

parallel connection of resistors ?

(}¥}“ Voltage in each branch is different

(83 o Current in each branch i 1S same

(G); Total power is equal to sum of

~— individual branch power

(ﬁ%‘?otai power is equal {o power in any
Dranch

R & R B e F e ¥ @ el

ST T ¥ 7

(&Y. v sren & R e o

(B) 5% er § ur wwe @nfr

(@}@ﬁmﬁﬁwwwaﬁwaﬁ TRy &

) @F{ Jf“&ﬁ“ﬁmﬁ%&?{% sﬁ'@:‘aé‘r SHEN]
% W % SUET R :

A capacitor thai stores a charge of
(.5 coloumb at 10 Voli. The value of
capacitance of capacitor will be -
(A) 5 Farad (B) 10 Farad
(C) 6.05 Farad (D) 20 Farad
Tt AT 10V a7 03 0.5 e a7 et
Hiaa Hyar ¥ 1 il @ wilar s wm g
(A 5 HTE (B) 10 &g
(Cy 0.05 Bye (D) 20 %os

| Electrical Eﬂgineerizﬁg / fegm Mﬁﬁ}
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57 Which DC metor has approximately
constant speed 7 ot
{A) Series Motor
(B Shunt Motor A
(Cy Cumulatively Compound Mm
() Differentially Compound WMibtor
%ﬁ@ﬂ%ﬁt&“{wﬁmmﬁw@i% e
(A) iR BT
(B) 3z #Wex
Oy gudy difi Wy
(03y P v Wret

¢

1

58  Which of the following is not a function of

transformer oil 7

(A} Cooling the primeary coil 7

(B} Cooling the secondary mﬁ

(CY Providing additional msufé}%on

(D} Providing inductive coupfing
Wﬁﬁqﬁquﬁ?ﬁmﬁ%ﬁﬁﬁé ?

(A) wofiE GEdr @ oiaed

(8) Tl Fedl @ s?ﬁm‘“

(1) Uoor T T w Tl

86  Open circuit test of a transformer gives
{A) Hysteresis loss only
(B} Eddy current loss only A
(Cy Hysteresis and Eddy cuﬁ@nt igsses
both
(D) Copper loss
e Uiy % gwr ahey tr?’aw.:m

¥ -

(A) e Siren wii

(B) Haw HEy o1 g

(¢ e g e gro @hat o
(D) @ =it

1%5’11?7?5{3"

60 Full load copper loss in a transformer is
1600 Watt, What wiil be the copper loss at
hatf-load ?

(A 6400 Watt (B) 1600 Watt

{C}y 80O Wau (I3} 400 Watt

ue SN % qE W 9T O ela 1600
e ¥ | ang gui-wre ui ang wh am e 7
(A} 6400 @ (B 1600 =

(Cy 800 == (D) 400 ar=

8304 ] b

&

For the current wave shown in figure,
average valus of current will be -
g % T Ty el Ry #, shww ann e wE

CHEE

A

i

Curvesrt 24— = M_—T—mm/?r--
A

1A AMLL’_MMMQ‘;
E t

62

63

o A1t 670 B Time (1)
(A) 1.0 A By L1 A
() 1.5 A (2320 A

Root Mean Sguare value of current given
by equation

f310+5ces{6zgz+300§

wIeT 3 R G g W, uT w e e i
B~

5:10+5503(6285+300)

(A) 8 A
(C) 10.6 A

wiil be

(B) 10 A
(D) 15 A

When switch '8' is closed in given figure,
then current's value at time 1 = 0 will be
fosr ¥ vefite aitay &, Rew 'S @) €' & O
wwE ¢ = O Ut T e A B -

2000
WA
B
T
LA A (o S
7o
?S!
(&) 20 mA (P Uiy

(B) 30 mA (Reh Yiaaw)
() 60 ma (Faeh WfamT)
(D) 120 mA (Pt TR

| Electrical Engineering / ¥R M’&%}
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&4

635

66

&7

Capital cost per megawatt is highest in -
{A} Steam Power Plant

(B) Diesel Power Plant

{C) Muclear Power Plant

(DD} Hydro Power Plant

(A) wm fogeqe o

(B) S forgerge &

(C) =i Regee W

(D) v~ Fogerye ¥

Which of the following is a protective
device against lightening over voliages 7
(A) Rod gap

(B} Buchholz relay

{C) Isolator

{D) Distance reiay

B & @ w1 ol ol e & e
GUATw Tumeer § 7

(A) " a0

(B) gt fd

- {C) ggawmat

(D) 34 e

Which type of following insulator is used
in 132 kV transmission line ?

(A) Pin type

(B) Disc type

(C) Shakle type

(D) Stay type

Pt & & = wr am 132 FE duew ae
¥ wgE A E 7

(A) W JaTe &

(B) &= war @

(C) Srpet wamTT =Y

(D) € w= W

A bus-bar is rated by -

(A} Current only

(B) Current and voltage only

(C) Current, voltage and frequency only

(D) Current, voltage, frequency and short
time current capacity

TH §E-9R & Mailtg aw § -

(A) ®awt g §

(B) Waw @l won Rvy g

(C) aw ur, fave oo engfe &

(1) uru, Reve, smafa aur erew ew@ gy ema
g

83P4 | :{%

68

69

70

Which of the following quantity is equal to
1.0 kilo-Waitt-hour ?

(A} 1000 Wan

(B} 4185 Joule

(C) 7355 Wan

(I 860 kilo-Calorie

e 9w W of 1.0 Redare-ver %
FUETE 7

(A 1000 Tz

(B) 4186 &

{(C) 7355 o=

(D) 860 Frer-FHardy

According to Kirchhoff Voltage Law, the
algebric sum of all voltage drop and e.m.f,
in any closed cireuit in a network is ggual
0 -

{A) Positive

(B} Negative

(CY Zero

(I} Depends upon e.m.f. of batteries
frceris & fawe & Prmmar Rl 9o sy
= wft Reraam @ frans. w5 Sl 9 dar
-

(A) wierp

(B) T

(C) =

(D) &= % s, uT Ffe e

Superposition theorem is valid for which
of the following circuit elements 7

(&) Non-linear elements

(B) Passive elements

{C) Linear bilateral elements

{DD} Resistive elements

AT gy e ¥ fny srereageRr wiey
& fm oA & 2

(A) wram srgay

(B) Mo arage

(C) @r s arge

(D) whrdeho sgue

10 | Electrical Engineering / R %ﬁm@
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£ two transformer not havi

impedn

sharin 12 a

iranstormer wiil

KWVa rating

T ST A

(A e ufeadiey aly el W

(B) ww ofvonfisr &t s @ @ Wl

72 The two primary parts of a three-phase

3

inducticn motor are -

(AY Rotor and Stator

(RY Siator and feld
{C) Shpring gnd brushes

D
e DT §TE aET % oay @ ] BT -
(A) TeT TF Wi

(By Sy wd e

(C) wed wwr od g

(D) T wd HET

el

otor and armature

P

3 A change of 5% in supply voltage of an
induction motor will change torque
approximaialy -

T YO WY @ wEw awed ¥ 5% uiEas
T T TERn W St o m A aivay (ere)
S

(AY 2.5% {(B) 5.0%

(Cy 10% (D) 50%

83P4 | .%: 11

[
i#

~%
1,

7T

DY Uk x|

ke real power @
;

LA L WA

s given by
4 fe [E—— A —
IR B -mET W OET

o
o

In a serles cireuil, current ie
90° what type of circuit iz th
{Ay R-L Cireuit

(B) Pure Capacitor

{CY Pure Inductor

(13 R-C Clrenit

ww ool oty  wro 900 & enrmd & & o
forer g @ oflug

(A) &TT g aftay

(B) = @i

(O gE 9

(D} &r, @ uhey

,._._. oo

£
e

in zf&ssz‘sa’aca, a parailel RLO cireuit will
ha

\A) ri ghest pbdaw@
§=y LG W vaﬁ of pure resistance
{Cy Minimum impedance

(I High value of pure resistance
o AT RLC uftyy ¥ e o Rufy
SEEEH i
T HA Y
g wiire
afyes T WU Wi

A
:::5

o,

RO

o~
ey
et @ \%

o~
ot
ot E
’

-

I
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78 For extra high voltage transmission lines,
the circuit breaker preferred is -
{A) Bulk off ¢ircuit breaker
(B} Vacuum eircuit breaker
{C) SFg circuit breaker
(B} Minimum oil cireuit breaker
arfer e vy oY e s ¥, e ofioy
frfwe ¥
(A) st dw aftuw fgvmes
(B) fafw uioy B
{C) SF, ufroy R
(D) ~=ay o oflvy fdes

78 Merz-Price protection is used for -
{A) Substation
(B) Capacitor bank
{C) Induction motor
() Generator
S-S YA WO U e ¥ -
(A) Bueg o
(B) duif= &% & foo
(C) W e %
(D) wFw & foe

80 The insulzting material for cable shouid
have following properties
{A) High resistivity
(B} High dielectric strength
{€) Low permittivity
(D) All of these
UF W § Ig guwd wd ¥ R
fadmard o =iy
(A) T aRaeme
(B) == wrRgs amed
(C) =7 wagman
(D) 4

81 Sheaths are provided in eahle for -
(A) Providing strength fo conductors
(B) Providing insulation
{C) Preventing moisture from entering intc
cable
{D) Reducing capacitance
oEE W S wE & e -
(A) ar@s o wrel v s i
(B) purwesm 5o o ¥ fao
(C) &aw o o % 99w &) Ve ¥ R
(DY) i =t &% &0 % g

82 For what value of resistance across terminal
A-B, the power transfer will be maximum?
iy & T AR & wy whide ¥ @ S v
% Wy eftreran o &1 T S 7

680
L —AAAS——— A
iy 30
mvr
B
(A) 28 ®B) 90
C) 60 M) 18Q

83 The valuc of current ' in the following
circuit is -

P e § wr T o am b -

\vaj WA
30 L 3G 30 !
+=
—JI
I 2V
(A) 0.5A B) 1.0 A
(C) 20 A (DY 40 A

84  Value of current 'T' in a junction of following
¢ircuit will be -

el oftaer & P wmm ¥ a7 @ wm
Eila

2A
1A
4A
I
1A
(A) 1.0 A (B) 2.0 A
) 0 A D) 3.0 A

83P4 ] ;:{,E ' 12
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e %5 [S:
SR €19
COU
{A)
(B
()
D)
Bl
(A)
(B)
(<)
D)

o

86 An
is i
(A)
(B)
(€}
()
m_é.
{A)
{B)
(<)
e}

87 A
12(
gen
(A)
(L)
e

o

(A)

©

88 On
Wir
(&)
=)
(<)
(&)
Th
{A)
(B)
(L5

(D)

83P4 ]


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

inal
un?
m=

g

: m?;“.fﬁﬂieﬂi’i{:ﬁ Engineering / fia afwit | l?ART—E-i 7 S-Be

[OPTIONAL SUBIECT / s i §

85 I & three phase squirrel cagﬁ induction

fRSTY motor runs slow, which of the m@owmg

could not be the reason for that 7
{A} Low Voliage

(B) High Frequency

(Cy Short-cireuited Stator Coil
(D) Overloading
a%*q*cﬁ%? T U e e €S R
B Y, @ Brw ¥ 9 O w1 wue U SR
(A) g7 Swed!

(B) we anghs

(C) |g-uTio" WIT HI

(D) afwia

86 An ourstanding feature of a universal motor
ig it's
{A) Best performance at 50 Hz supply
(B) Blow speed at all loads
{C}y Excellent performance on DC supply
(I3} Highest kW/kg ratio
it A @1 e gur fadmar ¥
{AY 50 Hz w&rg 9yt gads vl
(B) wft WX 9% =7 919
(C) & = T 9% geHas e
(D) == Temiene/fer wqur

87 A 10 Pole AC generator rotates at
1200 rpm. What will be the frequency of
generated AC 7
(A) 120 Hz (B) 110 Hz
{(C) 100 Hz (D) 50 Hz
e 10 4T &1 T W S 1200 &g 8 o o
Ui AT | GG T Y Y ST T B 7
(A) 120 5% (BY 110 w9
(C) 100 ¥ (D) 50 s&%

88 One of the advantage of distzibuting the
winding in alternator is to
{A) Reducs noise
{B) Saving in copper
(C) Improve voltage waveform
{3 Reduce harmonics
W AE e ¥ fSaia §sew & e @Y 8
(A) §T ¥ @
(B) @y 9 =g
(C) Tawya & § gun
(D) wiwwtes ® e

83P4 ] %}

5o

94

21

92

W‘"};a‘h of the following material is

aasecﬁ as
)

N
i

C Volimete

5 series for ran He N30 O
FAN T gy IRy Geed
{4y Copper {BY Steel
;e f 7 [,
(i) /1 LA (1

N LN e B e &

&® *?%ﬁt{ gy Wy o Q‘f-?zﬂ T W B
S (B zwarE

o prmned el o

{C) usgTeTay (133 wy=rep

oW turns of

(A Rebxsm we 18 jow
(B} Sensitivity
{C) Damping is eflective

(D} Seale is high

e gEgE wE ST wa BT &1 A
(A) R F T

(B) weE=lea o= 3

(C) srgves gurdr @

1) OYRy oits B

PR T 9
3:3 u“ﬁl

Maxwell bridee is used to measure
{A) Resistance {5 Inductance
(C) Capacitance (I} Freguency
TR UG W IO W §

(A) i (B oveE
(C) wiitm (D) amgh

Which method can be used to measure
power of a three phase unbalanced load in
a three phase circuit using minimum
numbers of wattmeters 7

{A) One watimeter method

(B) Two wattimeter mothod

(C} Three watimeter method

{13y Three ammeter method

v Prmen wivwy ¥ S W @ TR @
I W W ST WO TS oW R W
TEls Y U wH STy o ya few W 7

{A) Tm TR Tal ¥

(B) T =resfier omliy @
(O B ey ogfe ©
(DY B aremr Sl W
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93 In order w improve the power factor, which | g7 It is difficult 1o 1 magnetise stee] | Ueﬂag‘sa -
device should be connected o the power FAy T , o 180 An o
svsiem 9 {A} It has high gravity curre
{A} Series Capacitor {BY It has high nermeability (A)
(BY Shunt Capavitor , "
(%) Shunt Cap ) It has low permeabilits (®) 1
(C} Series Inductor {?} 1t has dow _p&x,r.lveb;“ 7 ®)
(I Shunt Inductor (D} It corrodes easily : {C) |
T S A5 & ol e ¥ ger w3 frg TE B BT BN wow ¥ adiis — (D) 1
W AT AN e Ry 7 ) _ .
(A i deits (A) FERT TOF ST B ¥ o
By wisdew genfis (B) soa uaagar veg o {4) 1
(O i e ) v 5 B)
(D) wedhwn Yt (©) cwat mawm Fr &y (€
(D) o si7 emmerdt & e ¥ -

94 H.R.C. fuses provide best proteciion for - (DY -
{Ay Overload
i B) Reverse current 98 In the magunetic field, in Left Hand Rule,

() Open circuiting the thumb always represents - ' 161 The
¢D) Short cireuiting N\ draw
T t}m TS YA YA W ¥ - (A) Current N
(A) sy ® (B} Voliage ( |
(B) =@ o @ & Magnetic Fel B)
/ N agnetic field
(©) ity % g 3 () SR | ©
(D) g iy B9 9 (D) Direction of force on conductor D)

95 Moisture content in the soil . A, e %, S g & g
the soil resistance. gﬁﬁ BIA T — b
(A) Increase (AY T : (A)

- {B} Decrease _ B)
{C) Does not affect (B) fasrg EC;
{3} First increase then decrease _ (C) T &

Bl ¥ adwm N owen, MR b o & (D)

| (D) @ U I @Y R

(A) s weh &

(B) =% wwh ¥ _ 162 Wha
ot . B9 Which of the followin y ferror ;etf‘ |
(C) vy 7} ol & mat:er?a’ I,P F wing s 2 ferromagneti syne
(D) ued gy wal & ooseg 0 e 3 ’ o (A)

{A) Nicke!

96 How many earth conuections are required R (B)
for the motor frame as per IE 61 rule (B} Copper ()
{(AY One {C) Aluminium D)

’-F-\“" £ 51 4y t 7
/{B} Two aﬁ?a;ﬁi@ and dritzf:}ct . (D) Tungsten
(C) Three separate and distinet X TS T
(D) Four separate and digtinet Fot ¥ & wr degeey v &7 o 4
HINEY! %W%a@ﬁf(@ﬁii%ﬁfﬁf‘%ﬁ%’ (A) Praer
W
Y- mieT 7 {&)
(A) @ (B) am (B)
(B) & arwr o o Prfia (C) weghifram
(Cy &7 smm—sm g e . ©
(D) &R efm-awm qur R L) Fes (D)
8iP4 ] r:ﬂ:a 14 | Electrical Engineering / [EEG] Bﬁ!‘zﬁ'g‘ﬁ} 83P4 ]
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106 An overexcited synchronous motor draws

161

current at

(A) Lagging power factor

{B) Leading power factor

(C) Unity power factor

(D) Devends on other factor

s fr-safie grreie At ur ¥ -
(A) UL SRR TS W

(B) enrmdy iRy YU O

(C) gt iRy ulles Y

(D) oy e 9 Pt @ B

The V-curve of a synchronous motor is
drawn between -

(A) Field current and back em.f.

(B) Field current and power factor

(C) Field current and armature current
(D) Supply voltage and armature current
T GEGIG AR ¥ V-am ey © -

(A) @3 uT g faad faars, o

(B) &= a1 gen 9ife oTics A

(C) &% a0 aqur FFeT 9w o

(D) fave werg q97 sy 9rg o

162 What happens when one phase of a

synchronous motor is short circuited 7
{A) Motor will not start

(B) Motor will get heated

{C) Motor will burn out

(D) Motor will run normally

U GEGIRE Wl i Th Sen wgaiad 89
U T B 7

(A) I TR FE E

(By wiex & sy

(C) wrex wa s

(D) ¥reX BT Y gEENE e

83P4 ] ol

103 A domestic energy meter disc moves slowly,
even when main swiich 18 off) the reason
ig-

{A} Speed error

(B} Voltage error

U} Frequency esror

(I3} Creep error

e Reg = oy o7 o oig e Al &
v it gl ¥ O gEe e ¥ -
(A) oy I

®) @ 3R

(©) st g

(D) fradw 3

104 The wattmeter readings by two-wattimeter
methods of power measurement are given
as Wy = 100 kW, W, = 5C kW. Watuneter
W, gives the reading after reversing the
connection of its current coil. What is the
power factor of load 7
fE—arestiey giftreTo i ¥, aresieT o i
W, = 100 kW, W, =50 kW ¥ yerzdizr W,
& TR TS uT HIER @l geed w9l
W B 1w T ot et W ¥ 7
(A) 1.0 (B} 0.655

Ay 05 (D) 0.866

108 In which category, the domestic energy
meter falls
(A) Indicating type
(B) Moving aluminium type
{C) Recording type
(D) Integrating type

TG ST W FET BRI ¥ -
(A) =D
(B) =% qrghiim
(Cy wilfheam
(D) wTeE
106 Which material is used as coating in CRT
of a CRO 7 :
{A) Carbon (B) Salphur
(C) Silicon (D) Phosphorous
CRO # CRT et & orat &1 ¥ way &
T BRI E 7
(A) wEw (B) §Fa{
(C) TRt (D) WEETY

15 | Electrical Engineering / fgn aﬁ%&%’%ﬁ}
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147 Fof-Arc heating, electrodes are made of -
(A¥ Eopper
(B} Aluminium
{C}T’;g}raphite
(D} ACSR conductor
i T ¥ FResE 9 ol T -
(Ayam %
(By-yegif &
(Cp-gume &
(D) gEmgeT TEe %

108 Wheén ' is the thickness of the sheets, the
tip diameter for spot-welding is usually -
TF T W A 1R wi e
g & = gmmen 2w -

(AFar (B) ¢
N 1
(C}::%ﬁ @) -

10% Lumen/ Watt is the unit of -
(AF*Light Flux
(B)=Luminous Intensity
(CyBrightness
(D¥Tuminous efficiency
I e ¥ -
(Ay vty wered oy
(B) wirg drar &
(C). ga=ieaT &Y

(Di_;iggém TERT Wl

110 In &fluorescent tube circuit, choke acts as-
(AY Starter
(By~Power factor improving device
(C) Source of heat
(D) Current limiting device

U WA = Wi uitey ¥, < w1l s
¥

(A) WRT & wiE

(B) it i garees W # ace
(C) e ¥ & a3

(D) gm0 Fdse 99 @ G

111 What is the Potential barrier of Silicon 7

(A) 0.1 Volt (B) 0.3 Volt
(C) 0.7 Volt (D) 1.5 Volt
Wi @ fawa sEQym Pea & 2
(A) 0.1 ¥ (B) 0.3 s
(C) 0.7 ¥z (D) 1.5 9w

83P4 1 +

112 An increasing current in magnitude is

113

flowing from x to y in given figure. What
will be the direction of induced current in
conductor loop as shown in figure 7

Olﬁ/

>
Y

Conductor
lsop

~,
P
X

(A) Anti-clockwyise

(B} Clockwise

{C) No current will flow

(D} Some time clockwise, some time anti-
clockwise

%’H%ﬁﬁxﬁyﬂ%@?ﬂm%vﬁmwﬁqﬁa

& T ¥ ) RenEn o wew F e ¥ e

o @ Ren wm el v

ok

>
Y

=V

(A) ammeEd
(B) aftromesd
(C) ®1g e wafew =8 2 -
(D) =t sfromet o &y g

Unit of magnetic reluctance ig
(A) Ampere — Tumn

(B) Ampere/Turn

(C) Ampere — Turn/meter
(D) Ampere — Turn/weber
FEHT AW & O ¥

(A) ufy - =

(B) whuzrg/e

(C) afar — et

(D) ulagt — wEst

16 | Electrical Engineering / fga Hﬁiﬁﬁf'ﬁ%}
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AP T T

iz
hat

in

P

[ﬁeﬁ_meaiﬁiﬁ%meermg ! Yo ﬁﬁmiﬁ;‘%ﬂ E?/%R -

iid

315

in Hydro-power plants

(A) Ipitial cost is high, ﬁneratlam&i O3t
low

(B} Initial cost and operational Eé{}i’é‘; are
high

(C) Initial cost is low, operalionat cost 38

high
(D) nitial cost and operational c¢
- T8 S
(A emifi wE TE, SLERTT SRS e
(B erifve mrw gay aTEH SR OE EIR]

o
B
2

(Cy wirife TR @Y, G WG
¥

(D) artfes wwe aar s @ ‘Tfi‘ﬁ T B
¥

Toad factor during a period is defined as -

Average load

(A
(&) {nstalied capacity

Average load

§i) : A
(B) Maximum load

Maximom load 5o
(€3

Average load
. Maximum load <%
(D) R

Installed capacity
we wwaraly W oare wunie whei

%%"GT"‘T{F‘“»

2
(A oy ersar
ke

RO
o T HTC
© " gima
afereneE Wi
) P e
el SR
83P4 | :;%u

il

117

118

(8) \/—%?w (B) V=+2E,
(€) Ep= % (0) E,=+2V

128 The current drawn by a 120V DC motor
of armature resisiance 0.4L2 and bach
aw i 112V is -
w120 V & S B ey Rrewt oty
0.40 % gy froeh B 112V E  EG
e BT -
(A) 10 A B} 20 A
Oy 112 A 120 A

used 10 measwe

Potential ransformer are
high voltage by using

volimeter
1etEr
ammeier

(A High range

{13y Low angs voiln
12y High range
(I Low range ammeiRr

e Freve o g wed fawenne # TR

e ¥ -

(AY wE U e e

(B w7 RpreaTl

O wEy OTOY SO

Dy P o @t e

Energy meter measures energy in -
{B) Killowatt
(L y Kilowatt-Hour (B) Watt
wREE WS e T B § -
(A) 9@ H (7)) e o
(C) Frcfaredzt ¥ (D) =i

Commutator of DO motor are made of
{A) Copper (B Cast Iren
() Steel (13) Tungsten

8 ) drex & Repieds s w9 ¥
(A < (B) ween Wel

() (D) ¥

n D motor, the condition for ATy
L“W?T ”: - :

€ e ¥ afumaq ofFe @8R € -

17 | Flecivical Enginseriog / Toua &W&@}
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123 In a four stroke petrol engine -

83P4 ] +

@chanicai Engineering / uifis aﬁwﬁaﬂ EART—

121 Otto Cycle Air standard efficiency is -
A T/ W ATy T e E —

(A) n=1+

i
ry+]

@) n=2-

(Where » = Compression ratio)

(ﬂﬁrn@fﬁsﬁeﬂqﬁ)

122 Friction power of a engine is -

(A) Difference between indicated and
brake power of an engine

(B) Difference between indicated and fuel
power of an engine

(C) Difference between indirect and brake
power of an engine

(D) None of these .

TH IO B ey omfR ¥ —

(A) 55 & wafaa oK ¥% stfmr & 9 oiay
{B}Wﬁa%ﬁrﬁaﬁiﬁaﬁ%ﬁe%é‘mw
(C) 97 & s ST 9% sifr & <9 afee
(D) 37 ¥ a1 &

(A} intake valve closes before TDC,
(B) intake valve closes afier BDC.

(C) exhaust valve eloses before BDC.
(D) exhaust valve open before TDC.,

T AY: Wl §ow F -

(A) TDC @ wedt 37w o/ =g ey & )
(B) BDC & wyamq 372% =iva 9 oy & |
(C) BDC & weat zwsife e o 2 &
(D) TDC & weel gwiie ared @ore ¥ |

B-2/%M0-B-2| [OPTIONAL SUBIRCT | fors fre [

124 The flexural rigidity for the deflection of
beams is expressed as -

@H%%W%Wﬁﬁ%ﬁ%ﬁ%w%m
T E -
i
7 .
(A) (B) %
e £ - i
(< 7 ) I

Where £ = modulus of elasticity and 7 =
moment of enertia.

W’E=mm%afmmmw;

125 A close coiled helical spring of stiffness
4 N/mm is in series with another spring of
stiffiess 6 N/mm. What is the stiffness of
composite spring ?

UF S pUseier fuw Rrge gebear
4 N/mm 2, st 3@l R frae geferar
6 N/mm & @y gz 2, ot wge o o
g oAy ¢

(A) 10 N/mm

(B) 4.1 N/mm

(C) 2.4 Nfmm

(D) 20 N/mm

126 An iron girder of uniform section and
constant depth is freely supported over a
span of 2.5 m on the ends. If a central load
of 3kN is working on beam.
[, =8x10°mm®* and E =2 x 105 N/mm2
are given, then central deflection of beam
will be ~
U TR Al U A UweE daem aur Rag
TEE W S E, S 2.5 oY we xSy R
TR F O AT ¥ A e o 3 kN
T B WIT W 3, @ o & wew F Hiew
foar g -

(@ L = 8 % 108 i, E = 2 x 105 N/mm?
faar o %)

(A) 61 mm
(B} 0.6] mm

(C) 6.1 mm

(D) 81 mm

18 { Mechanical Engineering / it aﬁm@aﬁ)
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Y 7 8 s

of ﬁf'f The specific speed %N g‘i of a pump is
T given by the evgmsswn
? s < Rl iy et AR
| . X N-/P
Ay Ng=—-gz B Ns=rmg7
H.w H o
o el D o D
(v; 5 T3 ( } uém«-; 5/.2{“
G ‘*—{m

128 The following part is not lubricated by
pressure feed system -
(A Timing gear
(B} Valve rods and push rods
() Rocker arm
(D) Main bearing of crank shaft
freafafiey W @Y O FORN § TR R T
R ¥ -
(A) T T T
(B) wwe w9 S qF B
(C) Twd and
(D) e S o qen EieT

129 Air-fuel ratio theoretically for a petrol
“engine is approximately -

¥ o & T Saifve WY § Ag-sE SEOE

(A) 147 : 1 (B) 20 : 1
(Cy 25 : 1 (D) 10: 1

130 In injection system of diesel engine *CRDU
stands for - (full form)
(A) Common Rotation Distribution
Injection
(B) Common Rail Driving Injection
(C) Common Rail Direct Injection
(D) Common Road Direct Injection
e m ¥ ormduer women ¥ CCRDD @
o — (forgy &)
() W TR Regem g
(B) v & FHET Lo
(C) B T ST $oE
(D) wa TE SHET oM

83P4 ] ik

4

131

’Whac 15 not the cxample of higher pair
from various kinematic pairs 7

(A) Raiz and Roller Bearing

(B Cam and Foliower

(C) Tooth gears in Mesh

(13} Crank Shaft and Jourpal Dearing
oyl wideh e H W URE gUE W OSEET
EiR

(4 wfe e e il

(B &0 wg wiwe

() PR Ty T H

(D) B wee e s R

Hartnell governor is a -

{A) Pendulum type governor

(B) Inertia type governor

{C) Dead weight type governor
(D} Spring controlled fype governor
wiee ot ¥ -

(A) WG GeTC Wl ST

(B) wiwed waTe W s

(C) wrEw WU el T waiEEes

(D) i Pl weT W SlhRES

133 The brake commonly used in motor cars

ig-
{A) Band brake
(B) Band and Block brake

“(CY Shoe brake

(D) Imternal Expanding brake

e il ¥ Qe O S @ yaT g ¥ -
(A) ¥ 3%

(B) ¥s ot g 9@

(C) 9L 5%

(D) effalies gaw d@

134 The frictional torque transmitied in a single

9

plate cluteh considering urﬁmmf WEAr -
U T W wEE B0 UEe R e Rk
o qriE ase ‘Q;";f T -

i
(A} gﬁW(f‘i*Vz)

1
B) 58 (n+n)
(©) Suwln+n)

2
D) Fu(n-n)

[Mechanical Engincering / A6 SSRGS
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Mechaical Engineering / it st [ PART-B-2 / WH-B-2| | OPTIONAL SUBJECT / s fren

135 Newton's law of viscosity is a relationship

between -

{A) Pressure intensity, velocity and
vigcosity

(B) Shear stress and angular deformation

(C} Pressure intensity, velocity and angular
deformation

(D} Pressure, temperature and velocity

TS W1 samar H P % Ay U gey &

(A) o9 T=E, o T SO

(B) oEqe whiswe ofiT ity feregr

(C) =1 dm, 37 o @l Ryswer

(D) @, am ot A

136 The range for coefficient of discharge (cd)

for a venturi meter is -
(A) 0.95 10 0.99

(B) 0.8 10 0.9

(C) 6.7t 08

(B) 0.6 to 0.7

wh Jgimndt & Freawy e (ed) @
BRI ¥ —

{A) 0.95 ¥ 0.99

(B) 0.89 09

(C) 07908

(D) 067 0.7

g

137 A simple U tube manometer connected to

a pipe in which liquid is flowing with
uniform speed will give which kind of
pressure 7

{A) Absolute pressure

(B) Vacuum pressure

{C) Gauge pressure

(D) None of these
WW@%{WE{&W?{%%%W% Elern
R U-zE Tl =7 959 T 93 g
WY % TR B QR 7 '

(A) & T«

(B) Fatw o

(C) wdt wre

D) v § 35 =

83P4 ] ={}=

138 The ratic of stress {o strain is called -

(A) Bulk Modulus

(B) Young's Modulus

(C) Modulus of Rigidity

(D} Poisson's Ratio

wicee oMR faply @1 e ww ww ¥ -
(A) ST TORYET TS

(B) o @ e

(C) s anais

(D) wigere srgom

139 What is the strain energy stored in a body

due to gradually applied load ?

Tl fils ox @ii-eY e w9 Tl wet
'@?ﬁ 4 .
(A) GE/V ®) cEX [y ¢

©) ovi/g D) o2V /28

140 Identify the correct relation between torque,

141

poiar moment of inertia and shear stress.
E[en, Seal @1 Yard e e ofr wd nivew
% o9 e O¥Y @ wmam sid |

o
=)
Nt

Poisson's ratic is the ratio of -

(A) longitudinal stress to lengitudinal
strain

(B) longitudinal stress to lateral siress

(C) lateral strain to longitudinal strain

(DD} lateral stress to lateral strain

TERW oruT e @l SIeR B &

(A) orgeed afvew o ergied Rrgh

(B) orgdut uleew wed wrgwey afose

(C) orges Ry wat erded Rrgfy

(D) srgwresr wiww Od agwed Rl

20 ] Mechanical Engineering / 4ifys %ﬁﬂﬁ%ﬁ&}
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| Mechanieal Engineering / uifis wPwuifehl| | PARTB-2/ wi-B-2| [OPTIONAL SUBJEC

142 In context of Hydrostatics, which statement

ig true 7

(A) Centre of pressure always lies above
centre of gravity.

(B} Cente of pressure always les below
centre of gravity,

(C) Centre of pressure and cenire of gravity
coineide.

(13} Centre of pressure does not exist.

e W bl A Am wm e wd ¥ 7

(A) T % 939 5@ B & $o7 fem g
T

(B) =¥ &= 959 6@ H% ¥ A Rug €&
g |

(C) T® &g &R o &g ol B9 ¥

(D) o9 &8 & aias =8 2 &

143 The velume of a fluid occupied by a unit
mase of the fluid is cailed -
(A) Specific Gravity
{B) Specific Volume
(C) Bpecific Density
(D) Mass Density
ot 79 % SWET B UH THE e ¥
79 &) A HEAKT § -
(A) faftre o
(B) R[fyre e
(C) fahre ova
(D) F=R o9

144 Yor a Laminar Flow, the Value of Reynold's
number must be -
{A) Between 2000 and 4000
(B) Higher than 4000
{(C) Less than 2000
(D) Eaual to 15000
R WaE % e s dem g aife -
(A) 2000 ¥ 4000 & =ex
(B) 4000 & wiyw
(C) 2000 ¥ &9
(D) 10000 & g

83P4 | =ﬁ=

145 Laminated springs are aisc ¢

{A) Helical springs

(B) Torsion springs

(Cy Semi eliiptical springs

(I3} Semi parabolic springs
wiee T @ Prer o we o ¥ -
(A) Tmww R

(B) wvw fggn

(©) @ e R

(D) arel T T

146 Bending of Beams causes

(A} Meither Tensile nor Compressive Siress

{B) Both Tensile and Compressive Stress

{C) Only Tensile Stress

(1) Only Compressive Stress

Ut § g & wrow —

(A) 1 ov wfaee &t W & wediey aiew
T

(B) & offt wrdvew &1 gftew e ¥

(C) ¥ oo wiiew woar

(D) e weirew wioam weaT ¥

147 The shear stress distribution diagram along

the depth d of a beam of recta.nguiar £ross
section wiil be -

TE YA h SGTE SESRY BT o MEUE d
& e waa whiew @ ety g'm -

K7 7
(A) d‘"ﬁ'_“ (B) % f--
Yl x__;
~ N
© d L D et
v v
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$48 The wrong statement regarding simple

carburettor is -

(A} Simple carburettor does not supply

constant fuel air ratio.

(B} It supplies richer nuxture while starting

engine from cold.

{C) Ne provision for exira fuel supply

while overloading.

(D) Carburetior work is to mix petro! and

air in correct ratio.

WW%T@ET%WﬁW%@%*

(A) T "R BRI few sraa ¥ Suw

T Ty w1 e werr Y o |

(B) 3% ¥ 99 WX ¢ 97 UE U @

arftres o ar R 3@ ¥

(C) sttt e & Rafa F afiftea dum emgfd

oy eEEer wE e |

(D) sz w1 @ Y o T @ ol

s W PETT ¥

14% Engine Lubrication work is to ensure -
(A) Adding extra heat for more efficiency

(B) Absorb shocks and vibrations

{C) Reduction of friction in moving paris

(I} Prevent leakage of fuel

§5 TET W W ] grvad B € 7
(A) ofY® s & g o= &

(B) go I BRI BT FE9Tee & TAT
(C) wrster o & w9 wear

(D) Fom @ G e

150 Morse test can be conducted only on -
{A) Multi-cylinder engine
(B) Water cooled engine
(C) High power engine
(13} Stationary engine .
A Tliew Py ¥ § f5g ot dww ¥ 7
(A) wg-Rdwst g
(B) sl ¢imd ¥
(C) =g o s
(D) Rer 3=

83P4 } 5{}3

151 Loy tandey idmanl Almcr ~F s
- FOr a2 sweady, 1asgl Tilow gf an

incompressible fuid, ¢

consists of pressure energy, kinetic ene
i

. aba point of the fhuid o

and datum energy

{
{(B) Chezy's formula

(C) Continuity equation

(I Bernouil's egquation

e U TTE Ten % umeny onedt vaE
& sl \im?fg, T \m‘ig, il wt IR ad
TSR R, w9 @ Wy ouv Rgv @l
wET S § -

(A) =E+ @ 390 Py

(B) == w0 T

(C) Frimrar gdRse

(D) "= & ST

152 The velocity distribution in case of a

Laminar flow ig -

(A) Circular

{B) Rectangular

(C) Parabolic

(D} Eliptical

wWhT yaw & e 9 et ate ew -
(A) FETET

(B) omaETETY

(C) YTERmenTy

(D) Arigamm

153 The main function of centrifugal pumps is-

{A} to transfer speed

(B to transfer pressure

(C} to transfer temperature

{(3). to transier energy

S T ey Wi e ¥ —
(A TRy @ TR

(B) ¥ & e

{C) TIOE %1 NREaLT

(D) & & wnEay
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154 Torsional rigidity of a shaft is given by -

T e @ HU% TR & s ¥ -

(A By G
(Cy Tip {in
Eg}
Where G = Modulus of Rigidity
I = Polar Moment of Inertiz
T = Torgque

wel, O = gon 9
YA S S

= H& T

155 If 3 beam is supported on more than iwo

supports, it is called a -
(A) buili-in beam

(B) built-up beam

{C} continuous beam

(I3} simply suppoited beam
uw g a7 ¥ ot sl o el €, 5 e
SR -

{A) sr=rer 99

(B) gafen &

(C) waa &

(D) e onahag §F

156 At a principal plane -

{A) no siress exists.

(B} onlv uniaxial stress acts.

{C) the normal stress is maximum and the
shear siress is zeo.

(D) the tensile steess is zero and the shear
stress 18 maximum,

e §d T -

(A) g fEw =8l e |

(B) ¥aw vw wiww gigew o w ¥

(Cy arftees witves sxfmmas e & ue sroaoe
PIGEGR G

(D) e afirew s i § o eresen gl
Sl €91 ¥

83P4 | %

Z

3

H

o
I

hoose the correct siatement while

conducting morse test i LO. engine -

CIER R 1% W v & dure § |l B

LSt ?}‘;31"‘"{ LI I

(AY IHP = }_5%15 ~ FHP

§=3 i%%? + BHP + FHP =0

{ HP = %ﬁﬁ

\ FHP

Y IHP = BHP + THP

Whare, [HP = h;mca&d Horse Power
BHY = Brake Horse Power

HF = Friction Horse Powser

wef,  IHP = zhedie i wE

P = é;“ IR

FHP = fraym el urrg

[

7
g
ot

’TJKIJ

)

138 A fan is provided in the water cooling

system 1o
{A) draw the gir through the radiator
(B} provide drive to the water pump
{C} cool the engine by blowing air over it
(D) incresse flow of coolant
W@ e v ¥ 99 % gEY a8 -
(A) Uguer ¥ T @few & fug

B T 9 W] GEET SIWe SHEaT

T(C) W UT 9y YR G SUET WYY & Y
(D} faws # WaE gon & [

159 Bupercharging is the process of -
(A)Y providing a draft of air for cooling

purposes

(B) supplying air to remove the spend up
gases

() raiging the pressure of air fed to the
eylinder

{1} supplying more fuel for getting greater
output

iy TR ¥ —

(A) o H TR W U W W Uwe
FCETAT

(B) gy T w e % fu ey el
HET

(Cy TfesT 4 uie 9F & 99 e

(D) otfum Prlw o 9/ et & o el

T H IS T
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169 Pelton turbine is operated under - 163 The ratio of the mass of actual dry steam
(A) low head and high discharge 1o the masﬁﬁ};@f steart containing 1t, called
(B) high head and low discharge (A) Dryn\?{rﬁé*fracié on

(C) medium head and high discharge

(1) medium head and medivim discharge ®) M""Stf'imf

IR TERY fewy oraly wvd weh ¥ o7 (C) Superheated steam
(A) P i ud sw woE (D) Evaporstion
(B) w= @ T T e arefysm YR AT & eEE ol W R g
(€) wom ol o 5 yarE O W QN wEeE § -
(D) wemw oind og wem waw o
{(A) ysmar, g
161 The device used for storing the energy of a (B) amden
fluid in the f{?m of pressure energy which (©) R A
may be suppiied for sudden or intermittent c
requirement. D) 355‘5@%‘%@%
(A) Hydraulic Press ) o
fmk
(B) Hydraulic Accumulator - . :
Boiler effi -
(C) Hydraulic Ram 164 Boiler e ﬁgncy is
(D) Hydraulic Intensifier (A)y Mass stSteam
U e Gert @ B9l & oo B & By A Massof Fuel
e w & 0 Sudn fesm soe e Suso, e
Energ'g;'{;f Steam
TE Fell B FUGW IEEE U] Bh-@ B B — -
nergy of Fuel
FTESTRAT o (09 Mgl A R W ¥ -
(A) w-oTe 0E (©) Mass fé;faﬁteam x Temp. of Steam
(B) Fa-aig daEs Calprific Value of Fuel
(C) w = (E’F} Energﬁ:; Fuel ~ Energy of Steam
(D) wg—=nfee dwemes ~ Energy of Fuel

162 Hydraulic Intensifier is a device used 1o T qe € ¥ —

increase - N —

(A) Velocity of fluid B Fmar e

(B) Pressure of fluid

(C) Viscosity of {luid ®) WY B H

(D) Volume of fluid g A T

s v e B e % Re O E 7

(A) 57 %7 A ©) WWWXWW;ZW
(B) g% o1 9% e

(©) == @t aren o oy it — s o
(D) 7= @1 s ) Fom

§3P4 ] == 24 [Mechanicai Engineering/maﬁm&%}
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165 Drawing showing the position of each part | 169 For riveted joint, which empirical relation
with respect to each other is called -
(A) Part drawing -
{(B) Assembly drawing frfa wie % By, R & wmw & o e
(C) Machine drawing.
{13y Installation drawmg

wm qEY & wey A e Hp @ Ruky 2w

is used for calculating the diameter of rivet?

& foe o o s ey wae e ¥ 7

a@@ﬁ@?aﬁmm%— (4) d=31
(A} 9FT oG o
(B) wowamisr omte (B) d=194/
(C) w5 ana
(1) g (C) d=12 Jg
166 Which of the foﬂowmg ﬁemﬂ is not related
to Cam ? > @) d=6+r
@ (A) Base circle
‘ (B) Rise, fall Where, ¢ = Thickness of main plate
(C) Pitch a ; .
(D) Dwell pem}d d = Rivet diameter in mm
(A) smer wE 5 d = @ a1 =g Bl &
(B) =@, 8K
(C) sgra
(D) 73w dRws 170 In thizd angle projection -

e .= B * °
167 All of the axes in the 3Dr-goordinates system (A) Plan is drawn above elevation.

meet at - (B) Elevation is drawn above plan.

3D waw woTel o @ ote oT Prew - o )

(A) 60° BZ 90° (C) Object is above horizontal plane and
(C) 120° (ﬁ} 135° behind vertical plane.

'

(D} Obiect is below horizontal plane and
168 A dimension is statedj«.é_s 25+ 0.02 mm

) Y, in front of vertical plane.
in a drawing. What is the tolerance 7

(A) 25.00 mm g sty 99y ¥ -

(B) +0.02 mm _ .
(C) —0.02 mm (A) i gy7 o U & TUT SRR T Y |
(D) 0.04 mm (B) gepa gya N g9 % 9T R W |
we g ¥ um oA w25+ 0.02 Befy @ ‘

e R R e (C) =g afos o & o o BEla O@ &
(A) 25.00 Py e Rexer oy ¥

(B) +0.02 Brft

(C) —0.02 Py (D) =g & oW & A o T T %
(D) 0.04 Bl wry Reg w6 ¥

83P4 ] :%: 25 | Mechanical Engineering / ﬁﬁ%ﬁﬂﬂﬁ%}


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

iMeehaﬁiﬁaE Engineering / 7% &aﬂﬁ{?ﬁ{%\é{ '@zm«am /9Bl | OPTIONAL SUBJECT / SR ey B

171 Function of dynamometer i3 -
(A) Find the Power of Engine
{B) Find the Speed of Engine
{C) Balancing the Engine
(D) Assist to Brake
SRR w wE e -
(A Fom my aTleRy e W
(B) $59 & wla 5 s
(Cy 59+ o) dgime wo
(D) &0 @TE F OuimE wmow

172 When the kinematic pairs are coupled in
such a way that the last link is joined to the
first link to transmit definite motion and
completely or successfully constrain
motion, it 1s calied g -

(A) Structure

(B) Mechanism

(C) Kinematic Chain

{D} Inversion

SIS TS QT T § OYE ° WS Wi R atiaw
e Fifvag iy dafta oo & fg oed B
4 gTiie B SN ¥ aer gl avE O vewagds
wiftr aRT B, T9 YT bl Wl TR ¥
{A) "

(B) @=.

(C) st =faan

(D) e

173 The initial tension Ty of the belt is equal
to-
(A} Tension in the tight side of the belt
(B} Tension in the slack side of the belt

{C) Sum of the tensions in the tight and

slack side of the beit

(D) Average tension of the tight side and
slack side of the belt

T & WS T Ty b svel ¥ -

(A) uF & dn ug ¥ §ure

(B) 43 % g& W ¥ T

(C) wg & v o g 9w ¥ oo w7 um

(D) v % o ol g a8 & ofed g

8314 1 %_

174 An ideal Bravion cvele consists of -

{A} two adiabatics and two isobarics

(B} two adiabatics, one isobaric and one
ispchoric
two adiabatics and two isothermals
two adiabatics and two isochoric
wm el dew um N e ¥ -
(4} T wwer ol ' wwemEy
(B) & 5aiw, U gvEr] o 0% av anvahss
(C) 31 Tt AT & gaamy
(D) & s o7 8 oW e

175 A gas which cbeys kinetic theory perfectly
is called -
{A) Normal pas
(B) Real pas
{(C) Pure gas
(D) Perfect gas
w e S e Rl B T e @ e ¢
ESOHEE R A
(A) s 3
(B) areias 19
(C) =
(D) sEst

176 Change in enthalpy in a closed system is
equal 1o heat transferred, if the reversible
process takes place at constant -

(A) iemperature

(B) interna! energy

{2} pressure

(I3} entropy

uw w2 fremr o el ¥ ofvads, wrral
ST % IET B & ul woneiie usw frag

N 1 1< é

(A} waEH '

(B) aeies oW

(C) =iy

(D) =

177 Moliier diagram is a plot of -

{A} temperature and enthalpy
(B} temperature and entropy
(C) pressurs and enthaipy
(13} enthalpy and entropy
IR S STRET B

(A) TR @R TR @

(R} wroee aiTe O &

Oy T &l el @

(D) wdwdy afic U=t e
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it | PART-B-2

2/ wr-B-2)

S

[OPTIONAL SUBSECT / S T

b T
et / t\\\‘
o bl J— w;n‘ Al o fitie I
ok symbol shows in title box.
(A Helalive position in first angls

(B) Relative position in second angle
projeciion

(U3 Relative position in third angle
projection

(I3} Relative position in fourik angle

projection

stede wag W

£ :j— ude fram

By
(A) wow FT waaw § wuy Rl

(B fadm ey udhe F oy Ry
(O wdwm el gawr ¥ e Rufy
(D) =gd wniy wee ¥ are Rty

When the an object 'is

complicated, which of the following view
is used 7
{A) Front view

Side view
(e
(1) Se

b

Top view

ctional view

i fedl ety el W S g A R

¥ W wHE w

{A) ¥=[E

vy ww F R Wi %7

27

188 Partial Balancing

181

182 In case of a flat collar bearing, the frictions

Where, / = Mass moment

means -
Bal a}v.h& ;,,cj"iia iy reciprocating o
Balancing partially '}fai’im e

£

(A)
(B

-
({1 Balancing partially without for
- .
(i) Balancing p’z*’iz uig with govern

GT’}QM T{gﬁ W

-_r; /J;PA

(&) weaw wwl @ o R

(B) aﬁ@“ﬁaﬂ@ﬁé & EaE

(C) = < ailyms e

(D) Wy @ﬁ%{@m&m W i dge

The maximum Huctuation of ensrgy in -

flywheel iz
e S ¥ e w e weEEe g b

10
N

{A} ;{S i

() 2E-K (D
of Inertia

E = Kinetic energy at mean g
Ko =Coetlicient of fluctuation of'ur

: % = Mean angular speed
wal, 7= merw wwe el

= S T ST TR e
Ko =Tl & semEs & Joike
© = offw S TR

force in case of uniform pressure may
assumed fo be acting at -

WE T Sl Rl & W ¥ e gy =)
qon o wuvir sw @ Feer ot Beanse W o

3 3
: o
By 1575
J'} -G
3 33
2t -t
() Z ;‘13—5»123\
3 f!z“rzzJ
. i
L2 ?'337,?2“
Y IS
S T

[Mechanical Engineering / aim st
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183 In AutoCAD ‘Explode’ command is used | 186 Mean effective pressure is -
o -
{A) Extend objects to meet the edges of (A)
other object.
(B} Extend the dimensions to 2 2D object
or 3D face into 3D space, : (B
(C) Remove objects from a drawing.
(D) Break a compound object into its

Work dene per ¢ycle
Stroke Volume

Heat suppiied per cycle
Stroke Volume

Stroke Volume

compenent objects. (<) T
i % “Explode’ ws e wr & - D
(&) o Sffeere & worw &1 frETt & fag ™) Stroke Volume
STSHHZE Bl THAS B | Area of the diagram
(B) 2D ofeiae o 3D &9 & 3D a9 § a2
fermmedt w1 wweeT o | R e
() ¥& § offerre o w2 | 7 SRy =5 fee T ¢
(D) U w1as aifesiae &7 30 e Riemwe (A) TIF AT
H Fep we |
®) TR ¥ TaE St
184 The part list in drawing includes - T S
(A) Part number ‘
(B) Material of part » T e
{C) Number of parts needed G —— e
(D} Al of these
R F U gl d anfe g & - & T T
(A) T & Te R @ dee
(B) ur @1 w2fmw :
(C) wmasgs e & g
(D) 7 =y 187 In aligned system of dimensioning, the
dimensions may be read from - 4 &
185 In a CAD system, an ellipse can be drawn (A) bottom or right hand edges

by specifying the following -

(A) Mid-point and End-point {B) bottom or lefl hand edges

(B} Mid-point only (C) only from botiom

(C) End-point (?nly . _ - (D) only from left side
;2{;;1“;%5;“‘;@0;;% Pt o et o+ R 1 e e ¥ -
SrEgT Wi ST "ear § - (A) asthl = =fEs wer & feerd &

(A) = g o of fig (B) @ W« T A P Y
ey S

(D) =, 985 e ofX Wy ar . (D) Seaw il w9
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188 The ratio of Force tranamitted 1o the Foree
applied is known as —
{A) Acceleration Factor
(B} Isolation Factor
() Power Factor
(I Form Factor
TR ¥ wd i /W W SR wER
¥
(A) T TUTis -
(B) R s
(C) s s
(DY wF i

189 In free vibration, the velocity vector leads
the displacement vector by -
e oA o 9 S, ferenaw duex @ wfvw
L

27 4
(&) £ B 5
T
(<3 by () =«

190 Consider a simple gear train consisting of
three gear wheels with 15, 10 and 30 teeth
respectively. The velocity ratio of third
wheel o frst wheel would be -

i

— and same direction

2

i
(B) 3
(C) 2 and same direction
(I3} Z and opposite direction
Wwwaﬁﬁ“ﬂﬁ S, 10 we 30 =@y
% oM Fee iy ¥ 9w qﬁ%’% w gEd u‘&:ﬁr
T T AU BT -

A

and opposite direction

i
5 Y TEE e

i

(3) > o fowm fom

(C) 2 T Taw fan
(D) 2 o Rda Ram

83P4 ] ..-,{}-:

(A)

191 The objective of “Crowning' of the fiar
pulleys of belt drive is 1o -
{A) prevent the belt from running off the

pulley

{B} increase the power {ransmission
capacity

{C}) increase the belt velocity

() prevent the belt joint from damaging
the belt surface

A GPEET W guE g @ weli e ey

Y -

(A) 8% & T § T 9§ e

(B) 9TiR ST wWEnr B SEE

(C) ¥ 7 = Tory
(D) & % 9% & 45 B uue © THUA B
T

192 In AutoCAD *ARRAY’ command is used
w0 -
«(A) Create multiple copies of objects in a
pattern
(B) Align objects with other objects in 2D
and 3D
(C) Change atiribute information in 2 block
(D) Create a region or a polyline from an
enclosed area
#ieide § ARRAY w9rs ugew oot ¥ -
(A) o YTd % offeiieTy o Averae

YR B

(B) enssiaed @1 o 2D ofit 3D iy o
TATH BT

(C) v =it ¥ where B wEw & oRedw
HTH

(D) ww wEmes wha § dom o Sk o
oA HE

29 | Mechanical Engineering / 9 aﬁm@%}


https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb
https://link.testbook.com/bQQ2EkH1bpb

iMeshaﬁécaE Engineering / gifm mﬁ%’m&ﬁ%} I PART-B-2/ E%WnBNZI |OPTIONAL SUBJECT / Yafirs o

193 The extension for AvtoCAD drawing file | 196 Which is the extensive property of a
thermodynamic gystem ?

is -
T = Ay Pressure
(A) DWG () Temperature
(B} DWT (D} Specific Volume
(C) DWF T BRI v ¥ Rl qoed -
(D) DXF (A) Ty
{(B) e
(Cy @rg

194 Any state of an ideal gas is 2 relationship
between the  variables.
(A Density and Volume | 1537 Which characteristic is not true for Entropy?
(A} It increases when heat is supplied.
rrrespective of the fact whether
temperature changes or noi.

(D) mlys weey

{B) Pressure and Volume
{C) Pressure and Entropy

(D) Pressure, Volume and Temperature (B) It decrsases when heat is removed
arrast g @ Tedy o g T whether temperature changes or not. 4
ooy e & (C) & remains unchanged in all adizbatic

. frictionless processes.
(A) o Sl s (In I desreasespif temperature of heat is
(B) =9 T g lowered without work being done as
(C) wmre 3t Oegrdy in a throttling process. |
Dy v, o i G @ A @ Rl T E 2

(A) T8 T% 45 V0! ¥ O WO 3@ aw %

s : o
1958 Dryness Fraction is - ﬁmia; %ﬁf@ o e
(A) Mass of dry steam (B vl ¥ ww oo § ofvedw €ar & @
Mass of total steam ‘?’%Hf, il el far smer &
Y AN (C) we wh w@r wi <R whsorel ¥
(E— * amfeaffa e ¥
fass of iotal steam — Mass of dry steam (D) oft sfehir ghrer & w fop R oS
() Moass of total steam — Mass of dry steam - im WITA B B I T AT wR € el
Mass of total steam e |
1y Mass of wet steam 198 Superheater is used in boiler to increase
() Mass of dry steam the - )
D, (A) Temperature of saturaied steam with
e {571 w7 increase in pressure
I Y H FEHA {B) Temperature of saturated steam
(A) T without increase in pressure
() Temperature of feed-water for betier
Y WY & 5T efficiency
®) Bl W B FATT — §F I F G (D) Mone of these mentioned
FIATEET & T9ET [ T . IO
© B W H FEE — 6 T G FEA %ﬁ@rmw%,
P T H G (A) == W gle F @Y d9Y% WY W aE
(B) =u@ A ghy & R0 €99 W o areny
(D) -2 FT (C) et woa b R Eis—sier o anm
T 1 (D) =l swifen ¥ ¥ o T
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199 Machining symbol given below gives
information about -

(A} Surface may be produced by any
process.

{B) Material removal required.

(Cy Removal of material prohibited.

(D) Surface is triangular,

gar asire udie faes o weiia e ¥ 7

/
V.
YA
(A) woe st ft usy T S5 W T §

(B) W=t @ 2@ STEYEEH ¥ |
{C) w=ref @ &=ve it ¥

(D) wae Y= § |

206 A spur gear with pitch circle diameter D
_ has number of teeth 7. The module m is
%;. _ defined as -
' e wfhw = D % e Wy e it o
e 7% | mege m areeyg g E -

(4) m=2.
) A
@) m=
i
i
Cy 7= e
- © -
D) m=D-T

83P4 ] oL
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SPACE FOR ROUGH WORK ) &5 s 8 Fosr orowr

T yvw A a gyl & - ge gl ot S iy Tl TR T wher my miEd & ud
TemT g7 v & @7 whed S o O, whand wa B oy & ewe a8 &
dem grT Tov T B 99 WY @) 69w e a fetdlra aiy & w7 oy & & wfy
¥ wiE me grEurd yde e wT whard @ | e e ufy ot oo I & e
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